
2 Examples

2.1 Find the general solution of the following ODE.

a) 2y + 2xy0 = 0

2

Steps : Mex ,y)=2y Nix , g) = 2X

Exact ? dyM=2=d×N I

stupa :

Methods : tox , g) = fax dxtgrg )

= 2x g t grg )

dy = 2x tg
'
c g) IN = 2x

g
'

cy )
so

grog )
s E

steps :

gtr # g) so

2. xgt Esc
or 2 xy

= C



Method 2 :

IT x , g) = f Nexis ) dy thru

= J 2x dy th rt )

= 2x y
x h r x )

dx s 2g th
'
ex ) = Ms 2g

h
'
ex ) so

h r x ) s I

jolt , g) = c

2x y
= C

Method 3 :

2X y
t g ry ) SIT

2X y
t hrxd set



b) [1 + cos(x+ y)]y0 = � cos(x+ y)
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c) 3x2y2 + yexy + (2x3y + xexy + cos y)y0 = 0

2.2 Solve the IVP

2y + 2xy0 = 0, y(�1) = 1.
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